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SECTION A

Q. Answer Mark Additional Guidance
1, i) 0.583 ii) 5.83% 4
2 N3 -1+12 i) 0.1%0.2x0.3%0.5% 1200
4
9 4.5 = 0.006 x 600
— 6~ 6~ 6
=36
3. i) 6p” — 4pr — 4r* i) 244D’
6
iy 82
Ox
4. i) 72 i) 6 iii) -1.125 6
5. i) 140.25 i) 826 ii) 5610 3
6. interior angles = 120° and 108°
360° — 120° — 108° = 132° 6
m =1 (180° — 132°) = 24°
n = 180° — 108° — 24° = 48°
7. ) 54 30
=2x3x3x3 =2x3x5
i) LCM =9 x 30 6
= 270
ii) 5
8. t,=8n-3
8n-3=613 5
n="77
Section A 40
Total




SECTION B

Q. Answer Mark Additional Guidance
1.a)i) |["1-1-1-1=-4
ii) | 48(97 + 48 — 45)
48 x 100 = 4800
i) | 5114 49) _10x5
20x 51 2x1
=25 9
b) x_3
5= 20 (x + 800)
4x = 3x + 2400
x = 2400
new salary = £3200
2. 1) 10x + 5y = 45
10x — 6y =34
Ily=11
y=1;x=4
iya) |Jc=4 Jd =1 6
c=16 d=1
b) |r=3x s =-3y
r=12 s =73




Q. Answer Mark Additional Guidance
3.i)a) |125and 216
b) | 75and 108
ii)a) | 50and108 8
b) |2and;
ii) &
4. 1) total distance = (3 + 18) = 21km
total time = 0.3 hour
average speed = 21 + 0.3 = 70 km/h
ii) t = time in minutes
_ 90t L (t+18)
75_(60+21)'—60 7
75(t +18) _ 3t
— 60 -2 + 21
5(t +18) _ 3t
—a =3 + 21

5t+ 90 = 61 + 84

=6 so time = 6 min




Q. Answer Mark Additional Guidance
5. 1) x| 32|10 1 2 3 Expect table
y 1 y of values but
v72|.2]32|4 3|2 |2 not required
y
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y=4- 5 curve drawn
ii) Reflection drawn 8
iii) (4, -4)




Q. Answer Mark Additional Guidance
6. i) Claude’s score
> 11333
2| Table not rquired
Steven's |2 |V
score alvslslvly
4 |\ /v |/ |V |V
4 |\ /v |/ |/ |V
6|V | V|V |V °

36 possible outcomes

20 wins for Steven

probability = £ = 2

Steven’s: 2,2,4,4,4,4 or
3,3,3,3,5,5

Claude’s:

H ) ) ) )




Q. Answer Mark Additional Guidance
7.) y=6-3—1
=2
i) area of logo = 50cm?
2+2+2x=10
x=3
ii) J3Z+22 =113 8
5+41+2+3=11
perimeter = (22 + 2./13)cm
iv) scale factor =9 = 3
new perimeter = (66 + 6+13)cm
8. i) a) 7+11 — 7x11 b) 3+4-12
= -59 _
-5@5
=0--25
=25
ii) a@a 6
=2a— a°
a® (2a — a%
=a+2a- a’— a(2a— a°)
=3a—a’—-2a*+a°
=3a—-3a’+ a°
Section B 60
Total
Paper 100
Total
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